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y MISSION SSC 2023 /TN [ IV

If simple interest on ¥ 600 for 4 years and on T 600 for 2 years combined together is

¥ 180, then find the rate of interest.
afs 4 991 o TTT 600 T WX 3R 600 T X 2 6T o {70 HI® & E VTLRIT AT £ 180

2, a1 ST <hY =X KT UaT «TT0)
(a)4%  (b) 5% () 5.5% (d) 6.25%
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y MISSION SSC 2023 /BTN [ IV

Ashok invested in three schemes A, B and C the amounts in the ratioof2:3 : 4

respectively. If the schemes offered interest @ 20 p.c.p.a. 10 p.c.p.a. and 15 p.c.p.a.
respectively, what will be the respective ratio of the amounts after one year?

MR J A AT A, B AT C | 2 :3 :4 % TUT | o (awr ferar afg asrmett &
HAI: 20 % , 10 % TUT 15% T G U TS THEAAT § 1 Ueh TH TSI ST STUTA ST ST 2
(1)10:8:5 (2)24:33:46 3)12:15:22 (4) None of these [




y MISSION SSC 2023 /TN [ IV

The difference between the simple interest on a fixed amount for 7 years and on the
amount for 12 years is Rs. 2,500. If the rate of interest is 10% p.a., then the amount is —
uek fAfera Uit ux 7 ol o aremor ST S 12 awt o forg Tist ur aremur s o st et
A E. 2500. TS AT T T 10% T TH &, T AT -

(a) Rs, 6,000 (b) Rs. 5,000 (c¢) Rs. 4,500 (d) Rs. 5,500




y MISSION SSC 2023 /TN [ IV

A sum amounts to Rs.17400 at 7% p.a. simple interest in Syears. What will be the

simple interest on the same sum at 6% p.a. in 4.5 years?

Teh LARTIOT 5 6T | 7% Tfd a9 ok HTRUT AT X E.17400 B ATt g1 SHT AT W 6%
Tta o il S 4.5 T H AIUROT AT FoRa=r gem?
(a) Rs.3,715
(b) Rs.3,627
(¢) Rs.3,480
(d) Rs.3,672




y MISSION SSC 2023 /TN [ IV

A person borrowed some money on simple interest. After 2 years he returned 3/2 of

money to the lender. What was the rate of interest?
Tk STtk - FTURUT AT W HH 97 IUR To1am 2 A1 918 I8 IUR 3 a1t @t 3/2 T
witer fou) sarer < o2 3T ot?

(a) 20 percent (b)30 percent (c) 15 percent (d) 25 percent




y MISSION SSC 2023 /TN [ IV

In how many years will Rs.1,900 produce an interest of 798 at the rate of 7% simple

interest per annum?
feRa= o=t W 1,900 TUT U 7%, WTELRUT SATH ehi & A T798 ThHT SATH THETT?
(2) 6 (b)8 (c)9 (d)S




y MISSION SSC 2023 /TN [ IV

If the simple interest on a sum of Rs. P at 5% per

annum for three years is thrice the simple interest
received on Rs. Q at 7% per annum for four years,
then find the relation between P and Q.

Ite o aut & fou 5% ufqd ad Hr o P . 6y afvr
T HTTUT ST &, Q U IR 99 ok {10 7% Ufd av <t
T H UTH ATYROT SATH HT AT TATE, TP AR Q o
w1 Hefer JTd shifeTu)

@) Q=21P (b)Q=3.1P (¢) P=4.8Q (d) P =5.6Q




< I MISSION SSC 2023 /4

A sum of money at simple interest doubles

itself in 8 years. What is the rate of interest?

HIS LATTIT TTUATOT ST UX § a9 H T hl
SR &1 AT §1 ST X AT 87
(a) 12.5% (b) 8.5% (¢) 9.5% (d) 6.5%




J' MISSION SSC 2023 /4

The ratio of principal and amount is 5:

6 in a certain time. It will become 4: 7
after S years. Find the rate of interest.
s fAfya ama ° gergm ofR afdr &
FTUTA 5:6 Tl AT 5 WA ATS 4:7 &AM
ST U AT HITTY

A) 11% C) 10% B) 11.5% D) 13%




2= I MISSION SSC 2023 N7\ TRV

sum of Rs. 17,200 is lent out at simple
interest in two parts for 2 years at 8% p.a.
and 10% p.a. respectively. If total interest
received after 2 years is Rs. 3184, then the
money lent (in Rs. ) at the rate of 8% p.a. is:
¥17,200 <HT THT I AR § ATLIRIT AT W 2
¥ & foru 8% ufer od Y X & SUR &1 AT 2
AR 10% 1., hAT i 2 oW < o1E ITH Hel
T £3,184 8, a1 AR 7 T AT (T H) 8% Tfd
JYHRT AR :
(a)6,400 (b)9,200 (¢)9,800  (d)10,800




y MISSION SSC 2023 /BTN [ IV

A person invested a total of Rs.57,500 at 4%, 5% and 8%

per annum simple interest. At the end of the year, he

received equal interest in all the three cases. The amount
invested at 5% was :

T ST T 4%, 5% R 8% Tfd T HTUARIT AT W Hed
57,500 TUX <R THA9T fehaT| o9 o afd W, 3T =T ATHet o
THT ST U Rl 5% v fHaer <y 1w afor oft:

(a) Rs. 25,000 (b) Rs. 20,750 (¢) Rs. 20,000 (d) Rs. 37,500




y MISSION SSC 2023 /BTN [ IV

The sum of money of Rs. 1500 becomes Rs. 1800 in two years at simple interest.
If the rate of interest is increased by 5%, then what will be the amount?
TTURUT &g W & ATl A 1500 T4 &I A 1800 T4 & ATl &l
TG ST T X H 5% &I gig B &I ST, dr A FAT Sfr?

(RRB NTPC 2016)

(a) Rs. 1500 (b) Rs. 1900 (c) Rs. 1950 (d) Rs. 2000




y MISSION SSC 2023 /LT [ IV

The ratio of an amount invested and the amount received is 5:8
in 5 years at simple interest. Find rate of interest.
JIYRUT &TeT U 5 guf & e &1 78 iy 3R urg iy

T HAUTd 5:8 &l €Tl & AT HIfAT|
a) 10 % b) 12.5% c) 15% d) 12%




y MISSION SSC 2023 /TN [ IV

The simple interest on a certain sum at the rate of 16.25% for 4 years is Rs.12600 less

than principal. Find out the principal?
T At it W 16.25% 61 R E 4 T HT ATURT AT TAGT § 12600 TIX HH 3

feiferaet =1 uar mme?
2)32000 b)36000 ¢)40000 d)48000




y MISSION SSC 2023 /TN [ IV

The simple interest on a sum of money is 8/25 of the sum. If the number of years is

numerically half the rate percent per annum, then the rate percent per annum is

foret a3t W wremur st iyt vt 8/25 ) T aut hr T TS U 9 R
utaera ufa o oTeft 8, 9t arfyes s ufava g
a)5 (b)8 (c)6.25 (d) 4




Y MISSION SSC 2023 ZBIVTN [N

A lent Rs.25000 to B and at the same time lent some amount to C at same 7% simple

interest. After 4 years A received Rs.11200 as interest from B and C. How much did A
lend to C?

A 3 B T 25000 Y IR T R 6T THT THH 7% BTUROT SATH W C < FHB T IUR
& 4 T9F & TG A T B AR C W AT o6 FTH 11200 TIX TTH FYI A T C i Fohe=T 39T
faar?  (CGL PRE 2019)

(a) Rs.20000 (b) Rs.25000 (¢) Rs.15000 (d) Rs.10000




y MISSION SSC 2023 /TN [ IV

Two equal amounts were borrowed at 5% and 4% simple interest. The total interest

after 4 yr amounted to Rs.405. What was the total amount borrowed?

ST U AHPTET T 5% R 4% ATROT AT U IUR TTAT 7211 4 I 6 18 HeA A 405
TUA B ITAT| IUR AT T3 TeT [T Feha=T oft?

(a) Rs.1075 (b) Rs.1100 (¢) Rs.1125 (d) Rs.1150




y MISSION SSC 2023 /TN [ IV

A certain sum was invested on simple interest. The amount to which it had grown in 5

|
years was 1 1 times the amount to which it had grown in 3 years. The percentage rate

of interest was:

TTLRUT AT WX Ueh T2 TR ot ot foka ) 5 orer ° 9 R agt off, ag 3 o |

ot st oft, see 1 igmagn-s‘ oft| SATST hi Ufar9Ta & off: (CHSL 2018
(a) 10% (b) 20% (c) 25% (d) 15%




2= I MISSION SSC 2023 Z8IT\ TRV

Simple Interest received by a person in 10 years on a principal of Rs. 9500 is

130% of the principal. What is the rate of interest (in %) per annum?

Teh SqTh GRT 9500 T o HeAe UT 10 T H ITH TLRUT SATH AL HT 130%
21 Ife o9 41T (Y% H) F4T 22 (CGL 2017)

(a) 12 (b) 13 (¢c) 15 (d) 19




y MISSION SSC 2023 /BTN [ IV

The simple interest on a sum of money for 10 years is Rs3130. If the principal

becomes 5 times after 5 years, then what will be the total interest (in Rs)

obtained after 10 years?

ToREIT SARTTST UR 10 ST T WTEROT TS 3130 U 2| AT AL 5 T9 A1 5 AT
T AT 2, AT 10 TS TS UTH et AT (G902 F) Fehemn grm?
(CGL 2017)

(a) 6260 (b) 7825 (c) 9390 (d) 15650







